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Tom and his mother are sitting at the tahle. They are having
their lunch.

“I don’t like this soup. T don’t want to eat it. ” says Tom and
puts down the spoon(/NA]).

“All right,” says his mother. “Don’t eat jt. ”

After lunch Tom and his mother work in the field. They woark
hard.

In the evening Tom's mother gives him a cup of soup. “Oh,

this soup is good,” says Tom. “Tt is the same soup, ” says his moth-
er.

Exercise
Chuose the best answer; -
1. Where are Tom and his mother sitting?
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A. Ta the rcom B. At the table
C. On the desk D. Under the trec
2, What are they doing?

A. They're having lunch

B. They're watching TV

C. They’re reading English

D. They’re talking

3. Does Tom like the soup at noon?

A. Yes,he does

B. No,he doesn’t

C. He likes the =oup

D. He doesn’t like it

4, Tom angd his mother work in the field.
A. In the morning B. After class
C. Before lunch D. After lunch

5. In the evening Tom's mother gives him
A, another cup of soup

B. the same cake

C. the same cup of soup

D. another cake

One day a man went to a chemist’s shop and said, “Have you
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anything for a headache?”

Without a word ,the chemist took a bottle from the table,took
off the cover (3 F) and held it under the man’s nose, The smell (5
Bk ) was so strong that tears(HRJB) came into the man’s eyes and
rant down his face.

“What did you do that for?” he asked angrily as soon as he got
back his hreath (FRIR),

“Don’t you feel better after that?” asked the chemist with a
smile,

“You're a fool (/). ” said the man, “It’s my wife that had

a headache,not me!”

Exercise
Choose the best answer;
1. The man went into the shop
A. to get some medicine for his cough
B. to get some medicine for his wfie’s headache
C. for sume clothes
D. to see his friend
2. The chemist was
A. a bad man
B. a kind-hearted ($#.{ ) man
C. a kind doctor
D. a strong man
3. The chemist thought
A. the man’s wife was ill
B. the man’s brother was ill

C. the man was ili
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D. the man had a stomach-ache (& #)

4. The man thought

A, he was wrong

B. the chemist did a good thing

C. the chemist wanted to fool him

D. the chemist was foolish

5. The writer asked us

A, to do anything as we please

B. not to take anything for granted (38 #2738
C. to put hearts into it when we do something

D. to do something well as soon as we can

It is theelast lesson before the holidays. The students are very
happy. Their English teacher is very happy ,too. Their teacher plays
some nice games with them, She sings some nice songs with them,
and then she goes to the blackboard and writes “SMILES” on it.
“This is one of the longest words in English, ” she says to the class.
All the students laugh,and then one girl stands up and says, “Why
is it one of the longest words in English?”

The teacher says nothing for a few seconds. Then she smiles

and says, “Because there is a mile between the first letter and last. ”
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Exercise
Choose the hest answer .
1. Why were the English teacher and the students very happy?
Because
A. the teacher sang some nice songs with the students
B. it was the iast day before the holidays
C. it was the last lesson before the holidays
D. it was the last day of the year
2. How did they spend the last lesson?
A. They played some nice games
B. They sang some nice songs
C. They danced together

D. Both A and B

3. What did the teacher write on the blackboard? _ |
A. Smells B. Smiles

C. Sleeps D. Slows

4. A girl stood up to ask the teacher, 97

A. Why is the word so long

B. Why did all students laugh

C. Why did you say it was the longest word in English

D. Why is it one of the longest words in English

5. The word “SMILES” is one of the longest words in English
because

A. it has many letters

B. there are two “s” in the word

C. a smile means 2 long way

D. there is 2 “mile” between the first “s” and last
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London is one of the oldest cities in the world. It is one of the
biggest. But New York is big,too. It is as big as London if it isn"t
bigger. There are many streets, beautiful shops and big factories in
it. The streets in New York are just as crowded (JH#F#Y) as in Lon-
don..And the New York buses carry more people every day than the
London buses.

There are a lot of palace(EB) in London. New York isn't as
old as London,and it has not many old buildings. The buildings in
London are as high as those in New York.

Now there is a school in New York. It has no class teachers and
no school buildings. The students themselves learn and go over their
lessons. They are 15 to 18. They live near the city. And the students
study very hard. They know a lot about different kinds of work in
the city. The people like the work of the school very much and want
to do it better,

Exercise

Choose the best answer .
1. There are _____ cities in this passage.
A. one B.two
C. three D. four



